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KM 4 g [ |5 (A) | R [ & (B) | HE# | EF(A+B)
T 2, 458 4 2,757 -7 2,793 -6 5, 550
T —TH 978 -1 897 4 789 -1 1, 686
PR — T H 567 0 536 0 561 0 1,097
e =T H 636 4 694 3 651 4 1,345
JHPTETIUT H 475 4 495 -1 513 6 1, 008
4R T H 325 -1 351 -1 324 1 675
JHPTHT ST H 299 0 361 -1 384 1 745
Lo HT 200 1 197 1 207 0 404
=a 378 1 442 -1 454 -2 896
T H 1,903 -3 1,976 3 2,018 -2 3, 994
PIHTHT 328 -1 329 -1 324 ~1 653
Hh T H 924 0 982 2 956 6 1,938
HT—TH 278 0 350 -1 396 -1 746
T — T H 322 1 418 1 431 -1 849
HHT =T H 487 -1 674 -3 636 —/ 1,310
BT B 294 -2 396 -1 388 -2 784
A 233 0 257 0 249 0 506
] = 290 -1 346 -3 331 -1 677
— K 438 -1 446 -1 456 0 902
— YV AREH—TH 0 0 0 0 0 0 0
=YAREMTTH 32 0 44 0 43 1 87
GIEL 105 -1 120 -1 117 -3 237
— Y KHH 5 0 5 0 5 0 10
KH » 5 685 2 854 0 865 4 1,719
k4> 4,516 5 4, 835 -6 4, 988 -2 9, 823
IR 4, 643 5 4,473 1 4,525 3 8, 998
E A 1,401 5 1, 505 4 1,539 3 3, 044
i) 5 0 7 0 6 0 13
EtR—TH 891 -6 753 —7 913 -5 1, 666
=LA _TH 1,095 7 1, 065 1 1,127 6 2,192
BH5+HR=TH 845 -2 767 ) 824 -5 1,591
= LRIUTH 698 -3 685 -3 701 -2 1, 386
ELtRATH 711 0 754 -3 669 0 1,423
& LR TH 0 0 0 0 0 0 0
e 1, 868 -6 1, 887 —7 1,778 0 3, 665
¥y —T1H 290 0 292 -2 293 1 585
¥y T H 239 1 251 1 246 2 497
sy o ="TH 431 0 430 -1 449 1 879
¥y DU T H 674 -1 651 -2 707 -1 1, 358
nr T H 416 0 469 2 494 2 963
mEiT—TH 256 0 299 0 335 -1 634
FAET — T H 576 -2 564 -5 617 2 1,181
PRI =T H 190 0 184 -1 229 0 413
2} 32, 385 -8 33, 798 -38 34, 331 -11 68, 129
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